Sk

g
Tl
>

1. ¥¥4
B4 SN 7 R RIS NER B A S
JBA T IR || = E s N

2. EHIVE
1) ¥Ep WG [EE RS
294 HRM H & 74 6A11H

2) JE1THIR
£ ofn 8% 3H3LH

3) &FEtHM
AEEFIT, FOUN A EEESS KOV H BRI K XIS

- BN A BYEGE RS KOS A R AR D EREL
DTH D,

BiF 28 oc=4219 7
SRR R OIERL 21T 5 b

4) FEHBNA
B TRRCAAGE ) RO THERIEER) 0LBD,

E+sZi@E SN



FEH N

%lljll
I

EB4 | BT EE EIRENREEERAINES E BB
HH ERBRE A
THH - T - fER] B fr ¥ & & % OB ORR
TERERBIRA = 1 622, 550
BREEANAT 2y 1 622, 550
BRETITER A 2y 1 622, 550 | BRETELEETIA (CHrEBP)
1 X
[ERES S 2y 1 8, 486
[ERES S 52V 1 8, 486
&= GBIk = 1 8,486 | fit#r (FFtE - 151A%E)
1 =
FEERERERRENE (FRSIREhR)
1 A
TEE =X 1 631, 036
B3Ny = 1 588, 964
At E2V 1 588, 964
T B SE R = 1 1, 220, 000
TS ERBITRA = 1 17, 899, 550
BRET AT = 1 17, 899, 550
BRETHA = 1 17,899, 550 | Filj#efig
1 =
BERAHEEE=2 U 7 GIUN
1) 1 X
BERAHEEE=2 Y 7 (HE
$5) 1 =«

-1- E+sZi@E SN



i

il
I

\
Y/

kB | BT REEEIRE MBS AN ER E
H H ERERBERA
THH - T - fER] & # OB ORR
BERARHME M ER RILNE)
1 =
SR EHER. CHTEBP)
1 X
HikFe TV o0
1 X
1 X
Heim 52V 437, 500
Him G - FHEEES) = 437, 500
[rowe 2 437, 500
1 A
E R = 485, 222
R X 485, 222
P i =y = 273,222 | fr# (EEE - 151A8E)
1 =
B R e = 212,000 | EFRCRAIERE
1 =
EHERAM (ZOfEmEER<) = , 822,272
Z DA = , 874, 501
— I P = , 443,227
SERSMA = , 140, 000
SERSMA = , 360, 000

E+sZi@E SN



